Sep 27th 10:05:18 pm

Sep 27th 10:05:21 pm

Sep 27th 10:05:23 pm

[ Yupppppp ]
Sep 27th 10:05:28 pm

Sep 27th 10:05:33 pm

Maw

Sep 27th 10:05:36 pm

TUTOR FOUND, NOW REVIEWING PROBLEM AT NO CHARGE

Sep 27th 10:05:38 pm

Sep 27th 10:05:39 pm

Sep 27th 10:05:41 pm

It's tip time! 5%
Sep 27th 10:05:44 pm
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Sep 27th 10:05:47 pm



4 Thanks. Got anymore?

Sep 27th 10:05:54 pm

SESSION STARTED AT 5:05 PM

Sep 27th 10:05:55 pm

Hi Paige, I'm ‘and I'll be helping you out.

Sep 27th 10:06:09 pm

Have you tried any work on the question?

Sep 27th 10:06:20 pm

Okay, I'm guessing all the questions are asking you to simplify. .

Sep 27th 10:07:24 pm

Have you done any questions like this in class?

Sep 27th 10:07:42 pm

Well let's first try writing it out like this (w + A)(w + B)

Sep 27th 10:08:42 pm

Lets try and guess the numbers that go where A and B are...

Sep 27th 10:09:3% pm

We need them to multiply together to make -24

Sep 27th 10:10:04 pm

e A*B

Sep 27th 10:10:15 pm

‘ Yes |'ve listed the multiples of 15 and 24 ‘

Sep 27th 10:06:47 pm

‘ I'm supposed to factor it out ‘

Sep 27th 10:07-15 pm

| have to factor each completely

Sep 27th 10:07:42 pm

‘ Yes

Sep 27th 10:07:46 pm

I've heard of factor by grouping but not sure how to do it ‘

Sep 27th 10:08:02 pm

‘ Okay ‘

Sep 27th 10:08:58 pm

‘ Okay ‘

Sep 27th 10:09:47 pm

Won't one be negative and one be positive?

Sep 27th 10:10:12 pm



9 Yeah,

Sep 27th 10:10:20 pm

10 ieA*B=-24

Sep 27th 10:10:32 pm

11 and add together to give 9

Sep 27th 10:10:56 pm

12 = __A+B=9

Sep 27th 10:11:08 pm

Sowill A*B=A+b_7?

Sep 27th 10:11:37 pm

13 No not guite...

Sep 27th 10:11:50 pm

14 What I've noticed is that there is a number that can be used to divide each of the three numbers in the equation by. .

Sep 27th 10:12:21 pm

15 (15w"2 + 9w -24)

Sep 27th 10:12:38 pm

37

Sep 27th 10:13:01 pm

16 The 15, 9 and 24 can all be divided by 3 .

Sep 27th 10:13:00 pm

17 Yeah

Sep 27th 10:13:04 pm

18 So we can rewrite it as..
Sep 27th 10:13:24 pm
35w"2 + 3w -8
19 (Bw" )

Sep 27th 10:13:47 pm

o0  Thenwe can go on as normal and factor the 5w"2 + 3w - 8 part_.

Sep 27th 10:14:24 pm

‘ Okay ‘

Sep 27th 10:14:36 pm

21  Letsgobacktothe Aand B's. .

Sep 27th 10:14:47 pm

22 We want to be able to write 5w”"2 + 3w - 8 as something like (w + A)(w + B)

Sep 27th 10:15:21 pm

23 sowewant 5Wh2 4+ 3w-8=(w+A)lw+B)...

Sep 27th 10:15:42 pm



24

25

26

27

28

29

30

31

32

33

34

35

36

37

and we have to figure out Aand B

Sep 27th 10:15:51 pm

Now we know that A'B must equal -8 ...

Sep 27th 10:16:20 pm

...and we know that the two w parts must mulitply together to give 5w"2 __.

Sep 27th 10:17-13 pm

So lets change our expression a little bit..

Sep 27th 10:17:32 pm

we want it like (S*w + Afw + B) .

Sep 27th 10:18:06 pm

So we want S*"w*w =5w"2

Sep 27th 10:18:43 pm

What number would S be?

Sep 27th 10:18:58 pm

Nearly, but not quite.

Sep 27th 10:19:29 pm

What else can w*w be written?

Sep 27th 10:20:05 pm

* means multiply (or times).

Sep 27th 10:20:21 pm

Exactly so...

Sep 27th 10:20:35 pm

SWE = SWhE2

Sep 27th 10:20:50 pm

Now it's easier to see what S equals?

Sep 27th 10:21:03 pm

What do you think it is?

Sep 27th 10:21:11 pm

‘ Yes

Sep 27th 10:16:30 pm

‘ Okay ‘

Sep 27th 10:18:02 pm

&

Sep 27th 10:18:11 pm

wn2 ‘

Sep 27th 10:20:28 pm
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52

Yes exactly!

Sep 27th 10:21:40 pm

Now lets put what we've worked out so far in an answer so we don't forget.

Sep 27th 10:22:01 pm

We've got...

Sep 27th 10:22:05 pm

15w”2 + 9w -24 = 3*(5w + A)(w + B)

Sep 27th 10:22:41 pm

So we just need to figure out Aand B...

Sep 27th 10:23:03 pm

So from, 5w"2 + 3w - 8 = (5w + A}{w + B)

Sep 27th 10:23:32 pm

We worked out that 5w * w gives us the 5w"2 part.

Sep 27th 10:24:00 pm

_..and we can see that the A * B must give us the - 8 part..

Sep 27th 10:24:23 pm

...and you correctly said that one of A or B must be a minus so that we get a minus 8 ...

Sep 27th 10:24:51 pm

So,AYB=-8.

Sep 27th 10:25:12 pm

Yeah perfect! well done!

Sep 27th 10:25:34 pm

The steps that made this one more tricky than normal, were: ...

Sep 27th 10:25:59 pm

You had to see that you could divide each number by three first...

Sep 27th 10:26:15 pm

...and then realise that you had to put a 5 in front of one of the w's .

Sep 27th 10:26:40 pm

Is there another question you need any help with?

Sep 27th 10:26:55 pm

‘5?

Sep 27th 10:21:34 pm

So would it be 3(5w+8)w-1) ?

Sep 27th 10:25:17 pm

No that's it thank you

Sep 27th 10:27:26 pm




Ukay, I'm giad | could help you understand the question. Bye,

Sep 27th 10:27:45 pm

‘ Bye

Sep 27th 10:28:01 pm

Student ended session

Sep 27th 10:28:03 pm




